QUESTION BANK

CLASS X
ENGLISH
CH- PATOL BABU

Q-1 Read the extracts and answer the questions that follow

A) “And acting? That has become a thing of remote past; something which he recalls at times
with a sigh.

a. Why has acting become a thing of past?
b. What is the meaning of the phrase ‘recalls at times with a sigh’?
¢. Where and when did he used to act?

B. Ten minutes or so later Naren Dutt looking for Patol Babu near the paan shop and found that
he was not there. ‘that’s odd —the man hadn’t been paid yet.

a. Why was Naresh Dutt looking for Patol Babu ?
b. Why didn’t he wait to take his money?
¢. What was odd?

Q-2 What was Patol Babu’s wife’s reaction after knowing about his getting a chance in a film ? Give
reasons.

Q-3 Why did Sosanko’s eyebrows shoot up ?
Q-4 What were Patol Babu’s dialogues and what was his reaction on seeing his dialogue?
Q-5 What was Gogan Pakrashi’s advice to Patol Babu on how to become a successful actor?

Q-6 “ He had done his job well. All those years of struggle hadn’t blunted his sensibilities”. Do you feel
the talent and skills of a person who is so passionate, don’t die with time. Elaborate.

Q-7 Patol Babu was a true performer. Explain.

Q-8 Through the character of Patol Babu, Satyajit Ray has portrayed that personal satisfaction is more
important than financial rewards. Explain the statement with reference to Patol babu, Film star.




CH- VIRTULLY TRUE
Q-1 Read the extracts and answer the questions that follow:

A) “Never mind her” Came a voice, and a second knight appeared from the wardrobe. It's me
who needs rescuing.

a. “ Never mind her”. Who is ‘her’ here and why it is said “ never mind her”?
b. How had the knight captured?

¢. Who was the second knight?

B) “ Can we have a one last try” It is said, “ | think the helicopter was the right idea. There’s got
to be some idea kind of an accident .......... go into “War Zone”. If this does not work | won’t
bother you again. Cheers, Seb.

a. What did Sebastian want to give a last cry to?
b. How did Michael receive the above message from Sebastian.
c. What is “War Zone”.
Q-2 How did Sebastian Shultz go into a coma?
Q-3 Why was Sebastian Shultz’s recovery said to be miracle?
Q-4 Describe Michael’s first encounter with Sebastian Shultz.
Q-5 When did the narrator realized that the game was going to be more complicated.
Q-6 What you come to know of Author’s dad from the story?
Q-7 How did the author win the Jackpot?
Q-8 The story has all the elements of science fiction. Write the answer with reference to the story.
Q-9 Would like to be transferred virtually? Why / why not.

Q-10 “ What | know is this everything that | have described that is true virtually”. Imagine yourself to be
Sebastian. Describe your terrific experience to your friend who also loves science fiction.




DRAMA : JULIUS CEASAR

Answer the following questions:

1. Why do you think Brutus spared Antony?

2. How did nature foretell Caesar's death?

3. Why did Cassius not want Antony to speak on Caesar's funeral?
4. Who killed Caesar and why?

5. What had Calpurnia seen in her dream?

6. How did Decius conclude Calpurnia's dream?

7. How does Mark Antony instigate the mob?

8. Why had Brutus and other conspirators assassinated Caesar?

9. What had Caesar written in his will?

10. After an ominous dream, Calpurnia begs Caesar to stay away at first, he agrees. What
changes his mind?

11. Who turns the people of Rome against Brutus?
12. Why did Caesar rebuke Cimber?
13. What was Antony's reaction on seeing Ceasar’s body?

14. Why did Cassius not want Antony to speak at Caesar's funeral?




POEM : SNAKE

Answer the following questions.

1. Why dos D H Lawrence make a reference to the Albatross from Coleridge “The Rime of
the Ancient Mariner”?

2. How does the poet describe the snake?

3. Why does the poet stand and wait for the snake to finish drinking water? What does it
tell about the poet?

4. The poet compares the snake to “drinking cattle”. Why?

5. What internal conflict does the poet face when he encounters the snake near his water
trough?

6. What does he poet'’s voice of education tell him to do? Does he follows his voice?
7. The poet is fascinated by the snake. Why did he attack it?

8. How did the snake react when it was attacked?

9. What does the poet refer to as a ‘vulgar” and “mean act"?

10. How does he want to expiate his petty act?

11. Why did the poet feed so honoured?

12. The poet calls the snake “someone” and "guest”. What does this imply about the poet?




POEM — THE RIME OF THE ANCIENT MARINER

ANSWER THE FOLLOWING QUESTIONS:

Q -1 How was the weather when the ship started to sail?

Q -2 Why did the mariner stop the wedding guest ?

Q -3 Describe the character of sailors?

Q -4 The very deep did rot: O Christ : Why is the speaker thinking of Christ here ?

Q-5 Why did the sailors give ancient mariner evil looks ?

Q -6 Why did the Albatross follow the ship?

Q -7 What was the effect of the storm on the ship ?

Q -8 What were the blessings the Albatross brought with it ?

Q -9 What happened when the sailors ship got stuck at one place ?

Q -10 What does the repetition of the line “water water everywhere “ signify ?

Q -11 What hellish thing had the mariner done and why ?

Q -12 Justify the title of the poem.




GRAMMAR

Q-1 Read the sentences and complete the sentences given below:

a) Boys and girls heat the pieces of coloured glasses.
b) Their hands solder the glasses into the circles of bangles.
c¢) Then they put them into the tray of cold water.

Vandana had an opportunity to visit the Bangle factory in Ferozabad. She was surprised that the
PIECES evivveieereienrerreenee e se e eeens by the boys and girls. Then the glasses .......cccocecvveieivereeceenen. After
this the circles of bangle ........cccovveveccvecvecereee

Q-2 Read the dialogues and complete the passage

Renu: Can | help you? | have plenty of spare time.

Ajay: Sure you can. | have a problem in solving this sum which is very difficult.

Renu: See, there are two ways to solve it. One is easy and the other is difficult.

Renu asked Ajay a@)....cccccceveeveeerecrennen. .b) Ajay, replying affirmatively, said she could surely as
............................... Renu replied that €)...ccceeeeveeceeviecireee e

Q-3 Do as directed

Rajan bought a car today. (change the voice)

Virtue has its own reward.(change to interrogative)

Old age is really a curse.(change into exclamatory)

Amit is the strongest boy in the class.( change the degree of adjective)

Very few flowers are as beautiful as rose.( change the degree of comparison)
Ranjan has got as much as he deserved.( change into negative )

ok wnNpE

Q-4 Here are few tips to save water. Read and complete the passages, that follow in the passive voice.

a) When washing dishes by hand don’t waste water.

b) Run your clothes washer only when it is full.

¢) Wash fruits and vegetables in a pan of water.
(i) When washing dishes by hand (a)......cccccoeevveviereneneee.
(ii) Your clothes washer (b)......coceveeveveveeineinnene. Only when it is full.
(iii) Fruits and vegetables (c) in a pan of water.




GRAMMAR

Integrated Grammar Exercises

Q-1 Rearrange the following into meaningful sentences
a) World/my / I/the journey/started/save / ago/to/years/five
b) 1/be/always/to/environmentalist/wanted to
c) Steve Irwin/l/inspired/was

Q-2 Fill in the blanks in the following passage with appropriate form of verbs given in brackets

Yesterday 1(@)...cccceeevererenne. ( receive) a phone call that my father(b)..................... (be) unwell.
[ () I ( book) a ticket online and (d)............c...........( leave) for Amritsar. On
the way ,l (€).eveveveeriereeiinns (meet) a young man who (f).....cccccceuueeene.

(offer)me some biscuits.

Q- 3 The following passage has not been edited. There is error in each line. Write the incorrect word and
the correction.

Incorrect Correct

a) Spendingtimeinyourkids s e,
b) bringimmediate as well aslong it e,
c) termgainforthe parents s s
d) According to the research, childrenof a ....ccccceeveeeee.. i,
e) involved parents are more efficient  ..ccceeeicii.. s
f) and getin better with their peers  reieiecs.

Q-4 In the passage given below, one word has been omitted in each line. Write the word with the word
that comes before and the word that comes after it, against each line number.

Before Word After

Savita, young girlina s e e
dark pink dress, sitsand s e e
elderly women, soldering pieces glass. ...cccceee.. i e
As hands moves mechanically like ~  eeeecies. s e
the tongs of machine,  wonder if  .iiiis e e,
she the sanctity of the bangles. ...t e

S0 o o0 T




Q-5 . Fill in the blanks with only one word.
Dronacharya’s Gurukul consists of a group of huts surrounded by tress a) ................... and
archery yard. The disciples are practicing to shoot arrows with their bows and arrows in the
yard. There is man standing near a tree busy instructing a boy b)............. In none other than the
Pandava prince Arjuna. c)............... Eklayva has never seen Drona before, he guesses that this
man would be the great teacher.
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MATHEMATICS

Arithmetic Progressions

1. The sum of first 5 terms of an A.P and the sum of first 7 terms of an A.P is 167.
If sum of first 10 terms of the A.P is 235, find the sum of its first 20 terms.

2.  Find the sum of first 7 numbers which are multiples of 2 as well as multiples of 9.

3. Solve: (-4)+(-1)+2+.......oii. +x =437

4. The eighth term of an A.P. is half its second term and the eleventh term exceeds one third of
its fourth term by 1.Find the fifteenth term.

5. The sum of 4 consecutive terms of an A.P.is 32 and the ratio of product of the first and last
terms to the product of the two middle terms is 7:15. Find the numbers.

Co-ordinate Geometry

1. If the midpoint of the line segment joining the points A(3,4) and B (k,6) is P(x,y) and
X +y— 10 =0, find the value of _k".

2. Find the area of triangle ABC with A (1,-4) and the midpoints of sides through A being(2,-

1)
and (0, -1)

3. If the points A (1,-2),B (2,3) ,C (a,2) and D(-4,-3) form a parallelogram, find the value of
_a‘ and the height of parallelogram taking AB as base.

4. TIfA(6,1),B(8,2) and C(9,4) are the three vertices of a parallelogram ABCD, and E is the
midpoint of DC, find the area of triangle ADE.

5. IfD(-1/2,5/2), E(7,3) and F(7/2,7/2) are the midpoints of sides of triangle ABC, find the
area of AABC.

6. Find the centre of a circle passing through the points (6,-6), (3,-7) and (3,3)

7. Two opposite vertices of a square are (-1,2) and(3,2). Find the coordinates of other two

vertices.

8. If A, B, P are the points (-4,3), (0,-2) and (a,b) respectively and P is equidistant from A and

B, show that 8a— 10b + 21 =0




A

10.

11.

12.

13.

14.

15.

16.

17.

18.

Circles

Name the line segment, having its end point on a circle.

Write the number of tangents that can be drawn through a point which is inside the circle
Name the line that passes through point of contact and through centre of circle tangent
Find the radius of a circle which is inscribed in a triangle with sides 3, 4 and 5 cm.

If the Distance between two parallel lines is 10 cm. Then find the radius of circle which will
touch both two lines

CP and CQ are tangents to a circle with centre O. ARB is another tangent touching the circle
at R. If CP = 12 cm, and BC = 8cm, then find the length of BR.

AB is a chord of the circle and AOC is its diameter such that DABC 00500 . If AT is the
tangent to the circle at the point A, find [JBAT

How many tangents can be drawn to a circle, from an external point?
Differentiate a secant from a tangent.

Name the common point between a tangent to a circle and the radius at the point at which
the tangent touches it.

Find the length of the tangent drawn to a circle of radius Scm with centre O, from an
external point which is at a distance of 13 cm from the centre.

If two tangents make an angle of 1200 with each other, are drawn to a circle of radius 6¢cm,
then find the angle between the two radii, which are drawn to the tangents.

Prove that the angle between the two tangents to a circle drawn from an external point, is
supplementary to the angle subtended by the line segment joining the points of contact to
the centre.

If quadrilateral ABCD is drawn to circumscribe a circle then prove that AB+CD=AD+BC.

If a tangent PQ at a point P of a circle of radius S5cm meets a line through the centre O at a
point Q such that OQ = 12 cm then find the length of PQ.

Two tangents PA and PB are drawn from an external point P to a circle with centre O. Prove
that OAPB is a cyclic quadrilateral.

If the angle between two radii of a circle is 130°, then find the angle between the tangents at
the end of the radii.

Prove that the parallelogram circumscribing a circle is rhombus.




19.

20.

21.

22.

23.

24.

25.

26.

27.

A circle touches the sides of a quadrilateral ABCD at P, Q, R and S respectively.
Show that the angles subtended at the centre by a pair of opposite sides are Supplementary.

If PA and PB are tangents to a circle from an outside point P touching the circle at A and B,
such that PA=10cm and angle APB=600 , find the length of chord AB.

If radii of the two concentric circles are 15c¢cm and 17cm , then find the length of the chord
of the larger circle which is tangent to one other.

Points P, Q , R, are on a circle with centre O such that the figure OPQR is a rhombus. If the
area of the rhombus is 32 vV cm?2 , find the radius of the circle.

Prove that the intercept of a tangent between two parallel tangents to a circle Subtends a
right angle at the centre.

AB is a chord of length 9.6cm of a circle with centre O and radius 6cm.If the tangents at
A and B intersect at point P then find the length PA.

The in-circle of a AABC touches the sides BC, CA &AB at D,E and F respectively. If
AB=AC, prove that BD=CD.

PQ and PR are two tangents drawn to a circle with centre O from an external point P. Prove
that QPR =2 OQR.

If a, b, c are the sides of a right triangle where c is the hypotenuse , then prove that radius r

of the

28.

29.

circle touches the sides of the triangle is given by r = (a+b-c)/2.
Prove that the lengths of the tangents drawn from an external point to a circle are equal.

Prove that the radius of a circle is perpendicular to the tangent at the point of contact.

Construction

Draw an equilateral triangle ABC of each side 4 cm. Construct a triangle similar to it and of
scale factor 3 /5. Is the new triangle also an equilateral?

Draw a line segment of length 7 cm. Find a point P on it which divides it in the ratio 3:5.

Draw a right triangle ABC in which BC = 12 cm, AB =5 cm and B = 90°. Construct a
triangle similar to it and of scale factor 2/ 3 . Is the new triangle also a right triangle?

Draw a triangle ABC in which BC = 6 cm, CA =5 cm and AB =4 cm. Construct a triangle
similar to it and of scale factor 5 /3.




10.

11.

12.

13.

Construct a tangent to a circle of radius 4 cm from a point which is at a distance of 6 cm
from its centre.

Given a rhombus ABCD in which AB =4 cm and ABC = 60°, divide it into two triangles
say, ABC and ADC. Construct the triangle AB'C' similar to AABC with scale factor 2 /3 .
Draw a line segment C'D' parallel to CD where D' lies on AD. Is AB'C'D' a rhombus? Give
reasons.

Two line segments AB and AC include an angle of 60° where AB =5 cm and AC =7 cm.
Locate points P and Q on AB and AC, respectively such that AP =3/4 AB and AQ=1/4
AC. Join P and Q and measure the length PQ.

Draw a parallelogram ABCD in which BC =5 cm, AB =3 cm and ABC = 60°, divide it into
triangles BCD and ABD by the diagonal BD. Construct the triangle BD' C' similar to ABDC
with scale factor 4 /3 . Draw the line segment D'A’ parallel to DA where A' lies on extended
side BA. Is A'BC'D' a parallelogram?

Draw two concentric circles of radii 3 cm and 5 cm. taking a point on outer circle construct
the pair of tangents to the other. Measure the length of a tangent and verify it by actual
calculation.

Draw an isosceles triangle ABC in which AB = AC =6 cm and BC =5 cm. Construct a
triangle PQR similar to ABC in which PQ = 8 cm. Also justify the construction.

Draw a triangle ABC in which AB =5 cm, BC = 6 cm and ABC= 60°. Construct a triangle
similar to ABC with scale factor 5 /7 . Justify the construction.

Draw a circle of radius 4 cm. Construct a pair of tangents to it, the angle between which is
60°. Also justify the construction. Measure the distance between the centre of the circle and
the point of intersection of tangents.

Draw a triangle ABC in which AB =4 cm, BC = 6 cm and AC =9 cm. Construct a triangle
similar to AABC with scale factor 3 /2 . Justify the construction. Are the two triangles
congruent? Note that all the three angles and two sides of the two triangles are equal.

Application of Trigonometry

A ladder 15 m long lean against a wall making an angle of 600 with the wall. Find the
height of the point where the ladder touches the wall.

If the angles of elevation of the top of a tower from two points distance a and b (a>b) from
its foot and in the same straight line from it are respectively 300 and 600, then find the
height of the tower.

Angles of depression from the top of a light — house of two boats are 450 and 300, which are
60 m apart due east. Find the height of light house (in m).




10.

11.

12.

13.

14.

15.

16.

A ladder makes and angle of 600 with the ground when placed against a wall. If the foot of
ladder is 2 m away from the wall. Find the length of ladder.

The angle of depression of a car parked on the road from the top of a 150 m high tower is
300. Find the distance of the car from the tower (in m).

If the length of the shadow of an object is greater than the height of the object, then what is
the angle of elevation?

The angle of depression of a car, standing on the ground, from the top of a 75 m high tower,
is 300. Find the distance of the car from the base of the tower (in m)

An observer 1.5m tall is 28.5 m away from a tower 30 m high. Find the angle of elevation
of the top of the tower from his eye.

The height of the tower is 100m, when the angle of elevation of sun is 300, then what will
be the length of shadow of the tower?

The top of two poles of height 16 m and 10 m are connected by a wire of length L metres. If
the wire makes an angle of 300 with the horizontal, then find L.

A kite 1s flying at a height of 90 m above the ground. The string attached to the kite is
temporarily tied to a point on the ground. The inclination of the string with the ground is
600. Find the length of the string assuming that there is no slack in the string.

From a point P on the ground the angle of elevation of the top of a 10 m tall building is 300.
A flag is hoisted at the top of the building and the angle of elevation of the top of the
flagstaff from P is 450. Find the length of the flagstaff and distance of building from point
P.

A tower stands vertically on the ground. From a point on the ground which is 60 m away
from the foot of the tower, the angle of elevation of the top of the tower is found to be 600.
Find the height of the tower.

If the shadow of a tower is 30 m long, when the sun‘s elevation is 300. What is the length
of the shadow, when sun‘s elevation is 600?

A tree breaks due to storm and the broken part bends so that the top of the tree touches the
ground making an angle 300 with it. The distance between the foot of the tree to the point
where the top touches the ground is 8 m. find the height of the tree.

A circus artist is climbing from the ground along a rope stretched from the top of a vertical
pole and tied at the ground. The height of the pole is 12m and the angle made by the rope
with ground level is 300. Calculate the distance covered by the artist in climbing to the top
of the pole.




SCIENCE

Q1. The formula of oxides of two elements X and Y are XO and Y203, respectively.

(a) Find the valency of X and Y.

(b) Identify the groups in which they would be placed in the modern periodic

table.

(c) Name one more element belonging to each of these groups.

Q2. What do you understand by the following terms:

(a) Phenotype, (b) Genotype, (c) Dominant traits, (d) Recessive traits, (e) Genes
Q3. What is catalytic hydrogenation? How is it carried out? Give the balanced
chemical equation of the reaction involved?

Q4. Complete the following reaction and balance them:

(a) Cu + AgNO3

(b) CuO +C

(c) MnO2 + Al
Q5. What is cinnabar? How is metal extracted from cinnabar? Explain briefly. How
is the extracted metal being purified?

Q6. Out of the two elements A and B with mass no. 2 and 235 respectively, which
one is suitable for making (a) a nuclear reactor (b) hydrogen bomb

Name the type of nuclear reaction involved in each of the case.

Q6. (a) what is gestation period?

(b) What is DNA?

(c) State three contraceptive methods for birth control population
Q7. Explain with the help of an example for each, how the following provides
evidence in favour of evolution in organisms. (a) Homologous organs (b)
Analogous organs, (c) Fossils
Q8. A convex lens can form a magnified erect as well as inverted image of an
object placed in front of it. Draw a ray diagram to justify this statement stating
the position of the object with respect to lens in each case. An object of height
4cm is placed at a distance of 20 cm from a concave lens of focal length 10cm.
Use lens formula to determine the position of image.

Q8. Draw a schematic diagram of a circuit of a battery of 4 cells of 2V each
connected to a key, an ammeter and two resistors of 2ohm and 3 ohm
respectively in series and a voltmeter to measure the potential difference of 3
ohm.

Q9. Explain why a ray of light passing through the centre of curvature of a
concave mirror, get s reflected along the same path.




Q10. How will you differentiate between saturated and unsaturated
hydrocarbons on the basis of combustion?
Q11. How are the following conversions done :

(a) Methane to chloromethane

(b) Ethyne to ethane

(c) Ethane to ethanol
Q12. What are the causes of short circuit? Give any two uses of electric fuse.
Q13. What is pollination? Explain its significance. Explain the process of
fertilisation in flowers.

Q14. An electric geyser consumes 2.2 units of electrical energy per hour of use at
220V.What is the power rate of device? What is current flowing through this
device when it is connected across the mains?

Q15. Draw the diagram of neuron and label its parts. Which part of neuron
acquires the information? Through which part information travels? In what form
information travels?

Q16. Give reasons:

(a) Elemental carbon forms compound mainly by covalent bonding.

(b) Diamond has high melting point.

(c) Acetylene buns with sooty flame.

(d) Kerosene does not decolourise bromine water whereas cooking oil does
Q17. What is spectrum? How can we recombine the components of white light
after a glass prism has separated them? lllustrate by drawing a diagram.

Q18. Draw a labelled diagram of human excretory and also list its functions.
Q19. How does atomic size, metallic character and valency vary on moving left to
right, and up to down in modern periodic table.

Q20. A metal nitrate A on heating gives yellow brown metal oxide along with gas
B and colourless gas C. Metal present is A is used in alloy which is used for
soldering purposes. Aqueous solution of A on reaction with potassium iodide
form a yellow precipitate of compound D. Identify A, B, C, D. Also identify the
types of reaction.

Q21. Explain the need of chemical communication in multicellular organisms.
Q22. Name the hormone which is released into blood sugar when its sugar level
rises. Name the organ which produces this hormone and its effects on blood
sugar level. Also mention the digestive enzyme secreted by this organ with one
function of each.




Q23. A 4cm. tall object is placed perpendicular to the principal axis of a convex
lens of focal length 20 cm. The distance of the object from the lens is 15 cm. Find
the nature, position and size of the image.
Q24. Write difference between AC and DC.
Q25. An element ‘X’ is placed in the 3" group and 3" period of modern periodic
table. Answer the following questions with reason:

(a) Write the electronic configuration of the element ’X’.

(b) Write the formula of the compound formed when the element ‘X’ reacts

with another element ‘Y’ of atomic number 17.

(c) Will the oxide of this element be acidic or basic?

(d) State modern periodic law

(e) Will it be metal, non-metal, or metalloid?
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SOCIAL SCIENCE
CLASS X
HISTORY
CH-3 NATIONALISM IN INDIA

Who had designed the Swaraj Flag by 19217 Explain its main features.

“The plantation workers in Assam had their own understanding and the notion of
Swaraj.” Justify it.

Why did different social groups join the CDM. Explain

Why did Gandhiji decide to launch a nationwide Satyagraha against the proposed
Rowlatt Act?

Why did Mahatama Gandhi find in salt a powerful symbol that could unite the nation.
Explain.

How did the First World War create a new political and economic situation in India?
Explain the idea of Satyagraha according to Gandhiji.

How did people belonging to different communities, regions or languages develop a
sense of collective belonging?

Explain the effects of NCM on the economic front.

“Dalits and Muslims participation was limited in the CDM.” Justify the statement.

GEOGRAPHY
CH-6 MANUFACTURING INDUSTRIES

1. “The economic strength of a country is measured by the development of
manufacturing industries.” Comment.

2. How can you say that agriculture & industry go hand in hand?

3. Why the maximum Jute mills are located near Hugli Basin?
Mention the reasons for concentration of cotton textile mills in Maharashtra. Also
state the problems faced by it.

5. Explain the features of National Jute policy 2005.

6. Why iron & steel industry are located in Chhotanagpur plateau region?

7. Why India is unable perform to the full potential in the iron & steel industry?
Mention the factors which have given boost to this industry.

8. Why is there a tendency for the sugar mills to concentrate in the southern and
western states of India?

9. Mention the problems faced by sugar industry.

10. How do the industries pollute the environment? Also state the factors to overcome
the environmental degradation caused by industries.




11. Classify the industries on the basis of raw material used, capital investment,
ownership, weight of raw material and finished products & their main role.
12. Explain the factors affecting the location of industries.

CH-7- LIFELINES OF NATIONAL ECONOMY

1.What is meant by trade? What is the difference between international and local trade?
2.What is the importance of the Pradhan Mantri Gramin Sadak Yojana?
3.What factors are responsible for the dense network of railways in the gangetic plains?

4.“Efficient means of transport are pre-requisites for the fast development” ; express your
views in favour of the statement.

5.What is the significance of airways as a mode of the transport? Mention two merits and one
demerit of airways.

6.Explain uses and advantages of pipeline transportation.

7.Explain why is air transport preferred in north eastern states of India.

8.Why is international trade considered the economic barometer for a country?
9.What are the main problems being faced by the railways ?

10.Classify the roads on the basis of the type of material used for their construction.
11.0n the political map of India, locate and label the following:

Paradip port

Tuticorin port

Chhatrapati Shivaji airport

Raja Sansi airport

Eastern most city of the East West corridor




10.

ECONOMICS
CH- 4 Globalisation and the Indian economy

What is meant by trade barrier?

Why did government of India put barriers to foreign trade and investment after
independence?

Give two examples of Indian companies which have emerged as multinational
companies.

How has competition benefited people in India?

Nearly all major multinationals are Americans, Japanese, or Europeans such as Nike,
Coca-cola, Pepsi, Honda, and Nokia. Can you guess why?

“Due to globalisation, competition and uncertain employment prevails”. Comment.
Analyse the role of Chinese toys in India.

“Globalisation has widened the gap between consumers”. Elaborate. Which value is
affected here?

What has been the impact of globalisation in India?

Explain the role played by WTO in liberalising International trade.

Ch-5 Consumer Rights

When did the consumer movement move in an organised form?
Which consumer right entitles the consumer to get relief in case the product or service

falls short of his expectations?

“Consumer awareness in essential to avoid exploitation in the market place”. Support
the statement.

Explain with 3 suitable examples the meaning of ‘right to be informed’ as provided
under ‘consumer protection act 1986’.

What is the importance of logos and certification? How does it affect consumers?
What are ‘Consumer Protection Councils (CPCs)? What are the main activities of the
CPCs?

“Rules and regulations are required for the protection of consumers in the market

place”. Justify the statement with arguments.




8. Explain the judicial structure of Consumer Disputes in India?

9. People make complaints about the lack of civic amenities such as bad roads or poor
water and health facilities but no one listens. Now the RTI act gives you the power to
guestion. Do you agree? Discuss

10. What are the drawbacks of consumer movement in India?

POLITICAL SCIENCE
CHAPTER-6 POLITICAL PARTIES

Q.1: What are the main functions of a political party?
Q.2: What are the obstructions and challenges faced by political parties?
Q.3: Why do we need political parties?
OR
What is the necessity of a political party in a democracy?
OR
Why modern democracies cannot exist without political parties?
Q.4: Mention some characteristics of political parties that distinguish them from
other groups (parties).
Q.5: Differentiate between a National and a Regional / State party.
Q.6: What is the role of ‘Opposition’ in democracy?
Q.7: What is meant by ‘Defection’?
Q.8: What are the components of a political party?
Q.9: How do the political parties put forward and implement different policies
and programmes?
Q.10: Explain the terms - (a) Affidavit (b) Partisan and Partisanship (c) Election
Commission (d) Opposition Party (e) Ruling Party
Q.11: How many party-systems are there? Which one is better?
Q.12: Write main policies of B.S.P and C.P.I-M.
Q.13: Differentiate between I.N.C and B.J.P.
Q.14: What are the major challenges before political parties?
Q.15: What efforts have been taken to reform political parties?
Q16: What suggestions are given to reform political parties?

Q17. How multi-party system has strengthened the democratic structure?

Q18: “Regional parties have strengthened the federalism and democracy in India.”
Comment

Q19: What is the role of an ordinary citizen in reforming the political parties?




CHAPTER-7 OUTCOMES OF DEMOCRACY

Q1. “A democratic govt. is efficient and effective.” Analyse the statement.

Q2. “Democracy is a better form of govt. than any other form of govt.” Analyse the statement
with arguments.

Q3. How does democracy produce accountable, responsive & legitimate govt.?

Q4. “Transparency is the most important feature of democracy.” Analyse the statement.
Q5. Why economic growth in dictatorship is better than that in democratic rule?

Q6. Are democracies based on political & economic equalities? Explain.

Q7. What are the conditions under which democracies accommodate diversities?

Q8. How are complaints treated as testimony to the success of democracy?

Q9. “Democracy stands much superior in promoting dignity & freedom of the citizens.” Justify
the statement.

Q10. On what factors does the country’s economic development failed?

CHAPTER-8 CHALLENGES TO DEMOCRACY

Q1. Explain the different types of challenges faced by democracy in modern world.
Q2. How does RTI act as a watchdog of democracy?

Q3. Suggest some guidelines that can be kept in mind while devising ways & means for political
reform in India.

Q4. Mention the steps to check the doctor’s absenteeism in rural area.
Q5. Examine the expanded scope of democracy in the modern world.

Q6. Define the term “Political Funding.” State the challenges faced by democracy due to it. Also
mention the reform proposals to overcome the problem of political funding.

Q7. Explain the arguments for and arguments against democracy.

Q8. “Is the idea of democracy shrinking?” Explain the statement.




Q.1.
Q.2.
Q.3.
Q.4.
Q.5.

Q.6.
Q.7.
Q.8.
Q.9.

Q.10.

Q.11.
Q.12.

Q.13.
Q.14.
Q.15.
Q.16.

Q.17.

Q.18.
Q.19.

Q.20.

SUBJECT : Information Technology

Chapter : Database Development

What is a Database. What are its types.

What is RDBMS. How is data organized in a RDBMS.

State the relationship & difference between a Primary and Foreign Key.
List the data types used in a RDBMS.

In a Data base, how can you define the structure of a data and
manipulate the data. Briefly explain.

What is the difference between Data Sheet and Design View.
What are data types. Explain them.

What is the extension of the Database file in MS Office Access.

Name the Database Management System from MS Office suite.

What do we call the columns in a table.

Which key is used to uniquely identify each record in a database table.

Name the term which is used to get the synopsis of data on the basis of
some criteria.

What do you mean by sorting. How can you sort the data in Access.
What is the difference between Data Storing and Data Sorting.
Define Tables. List the different elements of a Table.

What is the file extension for databases created using OpenOffice.Org
Base.

What do you understand by Data Validation. What is the role of Field
Properties in this Process?

How can you rename a field.

What type of languages we can use to define the structure of data and
manipulate the data in database.

What are the two types of DML.




Chapter : E-mail Messaging

Q.1. What kind of events can be scheduled and managed by the Calendar
Software.

Q.2. Which Calendar View enables you to look at a Work Week?

Q.3. Which options are displayed on the Screen setup while scheduling the new
appointment.

Q.4. What are Appointments.

Q.5. Describe the two ways by which you can schedule an Appointments by
using Outlook.

Q.6. Which extension of a file do you get when you share your Outlook calendar
with others by publishing it on Outlook.com.

Q.7. What is the advantage of taking a printout of the Calendar.

Q.8. What are the resources which must be arranged to fix a business meeting
with the client after meeting him/her a meeting request in Outlook.

Q.9. How can you add a new recipient to an existing meeting request.
Q.10. Explain the term ‘Edit the Response before Sending’.

Q.11. List the tasks we must include to organize a business meeting.
Q.12. How can you hid the date and time on the Notes.

Q.13. What is time management. Which feature of Microsoft Outlook acts as a
time management tool.

Q.14. How can you share the calendar information with other people in Outlook,
using E-mail.

Q.15. What are Notes and how can they be created in Outlook.
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